
FORD
B-MAX
                                                                                         
B-MAX (CB2)                                                                                                10/2012 -->

 >

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

 1 751 952* 

1 545 338 

1 545 339  

1 545 457 

1 790 310 

1 518 904* 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Stabiliser Link 

Silentblock for TCA 

c:Ø17,5   do:Ø38,6 

c:Ø12,85 th:FM14x1,5 RHT 

c:Ø12,85 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:290,5mm 

L:252mm  

do:Ø61 

10FR3520 

17FR3520 

17FR3521 

20FR3520 

26FR3520 

38FR3520 

26FR3520

20FR3520
17FR3521

10FR3520 38FR3520

26FR3520

5

3 2

61

4

10FR3520

1

20FR3520
17FR3520



FORD
ESCORT
                                                                                        
ESCORT I-II                                                                                       01/1968  08/1980-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 1 476 246Tie Rod End c:Ø12,5 th:FM14x2 RHT17FR21

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

6 081 391 

1 637 183 

1 637 185 

Tie Rod End 

TCA Right 

TCA Left 

c:Ø11,5 th:F1/2" UNF RHT 

c:Ø17,95   

c:Ø16,95   

17FR20 

23FR0500 

23FR0501 

12/1974  08/1980

09/1980 >

17FR21

17FR20

23FR0501 23FR0500

17FR21

1

1

3 2

                                                                                        
ESCORT III (GAA)                                                                                       09/1980 - 04/1991
ESCORT IV (GAF, AWF, ABFT)
                                                                    

                       

-

17FR20



FORD
C-MAX
                                                                                        
CMAX I (CB3, DM2)                                                                          02/2007 - 09/2010

 >

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

7

88

10

1 679 388 

1 388 549 

1 404 785 

1 780 104 

1 851 900 
1 570 284* 

1 570 285* 

1 332 074*

Ball Joint 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Stabiliser Link 
Silentblock For TCA Right 

Silentblock For TCA Left 

Silentblock for TCA

th:M14x1.5 RHT  cp:1/6 cs:Ø18  

c:Ø12,45 th:FM16x1,5 RHT 

c:Ø12,45 th:FM16x1,5 RHT 

th:MM14x1,5 RHT L:291mm 

L:298mm  
di:Ø22  

di:Ø22  

di:Ø14,2 do:Ø40,8

10FR1705 

17FR1705 

17FR1706 

20FR1705 

26FR1705 

38FR1705 

38FR1706 

38FR1730

20FR1705 20FR1705
17FR1706

10FR1705

38FR1730

38FR170538FR1706

26FR170526FR1705

55

3 2

10

78

1

4

10FR1705

1

17FR1705



FORD
C-MAX
                                                                                        
CMAX I (CB3, DM2)                                                                          02/2007 - 09/2010

 >

NO ASMETAL CODE MEASURES OEMDESCRIPTION

6

9
1 469 208

1 061 668*

Stabiliser Link Rear

Silentblock Bushing

L:72,5mm

di:Ø12,2 do:Ø32,2

 

26FR1706

38FR1720

38FR1720

26FR1706

38FR1720

26FR1706

9

6 6



FORD
C-MAX
                                                                                        
CMAX II (CB7, CEU, UAV)                                                                                 12/2010 --> 
GRAND CMAX (CB7, CEU, MAV)                                                                    12/2010 -->

                       

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

1 702 970 

1 702 983 

1 826 501 

1 826 505 

1 780 104 

1 851 900 

1 856 6671 856 667 

Ball Joint Right 

Ball Joint Left 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Stabiliser Link 

Stabiliser Link Stabiliser Link Rear 

c:Ø21    

c:Ø21    

c:Ø 12,35 th:FM16x1,5 RHT 

c:Ø 12,35 th:FM16x1,5 RHT 

th:MM14x1,5 RHT L:291mm 

L:298mm  

L:72,5mm L:72,5mm  

10FR1707 

10FR1708 

17FR1707 

17FR1708 

20FR1705 

26FR1705 

26FR26FR1708 

20FR1705 20FR1705
17FR1708

10FR1708

26FR1708 26FR1708

26FR1705
26FR1705

66

4 3

2

5

10FR1707

1

7

17FR1707



FORD
CAPRI
                                                                                        
CAPRI (ECJ)                                                                12/1978 - 02/1974
CAPRI II (GECP)                                                                                    05 / 1975 - 12 / 1977
CAPRI III (GECP)                                                                                 01/1978 - 04/1986
        

CARGO
                                                                                        
CARGO                                                                         

17FR20

10FR3001
10FR3000

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 1 447 222Tie Rod End c:Ø11,5 th:F1/2" UNF RHT17FR20

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

81DB 7L 030 AA 

81DB 7A 501 A1A 

98CT 7L 030 A1A 

Ball Joint 

Ball Joint 

Ball Joint 

th:M10x1.25 RHT  cp:1/8 cs:Ø11,7 do:Ø30,1 

c:Ø12,7   do:Ø30,35 

th:M10x1.25 RHT  cp:1/8 cs:Ø11,6 do:Ø30,3 

10FR3000 

10FR3001 

10FR3090 

10FR3001

10FR3090

17FR20

1

2
1

10FR3000

1

3

10FR3090



FORD
CONSUL
                                                                                        
CONSUL                                                                01/1972 - 12/1975
CONSUL Turnier                                                                                    01/1972 -  12/1975
CONSUL Coupe                                                                                   01/1972 - 12/1975

        

17FR21

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

5 021 429 

1 579 763 

1 476 246 

Ball Joint Upper 

Ball Joint Lower 

Tie Rod End 

th:M14x1.5 RHT  cp:1/9 cs:Ø15,45  

th:M14x1.5 RHT  cp:1/8 cs:Ø15,5  

c:Ø12,5 th:FM14x2 RHT 

10FR42 

10FR43 

17FR21 

17FR21

10FR42

3

1

10FR42

10FR43

1

22

10FR43



FORD
CORTINA
                                                                                        
CORTINA                                                                                                       1962-1982

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

1 613 139 

1 494 903 

1 476 246 

Ball Joint Lower 

Ball Joint Upper 

Tie Rod End 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,5  

th:M14x1.5 RHT  cp:1/10 cs:Ø15,8  

c:Ø12,5 th:FM14x2 RHT 

10FR2000 

10FR40 

17FR21 

1600 GT, 2000

08/1970 -->

17FR21

10FR2000

17FR21

3

1

2

10FR2000

10FR4010FR40



FORD
COUGAR
                                                                                        
COUGAR (EC_)                                                                                     09/1998  01/2001-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

93BB 3395 AC* 

1 097 323 

1 097 316 

3 903 149 

5 106 995 

1 054 209 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

Stabiliser Link Rear 

c:Ø18    

c:Ø13,2 th:FM16x1,5 RHT 

c:Ø13,2 th:FM16x1,5 RHT 

th:MM14x1.5 RHT L:338mm 

L:236,5mm  

L:58,3mm  

10FR0500 

17FR2210 

17FR2211 

20FR0502 

26FR0100 

26FR02 

26FR0100

10FR0500

26FR0100

20FR0502

5

20FR0502

17FR2210 17FR2211

10FR0500

26FR0226FR02

1

6

4

2 3



FORD
ECONOVAN
                                                                                        
ECONOVAN (KBA, KCA)                                                                                 03/1986 - 03/1992 
ECONOVAN Box (KAA)                                                                    

                       

10MZ03 10MZ04

17MZ0200

10MZ04

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

3 252 249 

3 252 250 

3 251 449 

Ball Joint 

Ball Joint 

Tie Rod End 

th:M16x1.5 RHT  cp:1/8 cs:Ø18  

th:M18x1.5 RHT  cp:1/8 cs:Ø19,75  

c:Ø14 th:FM14x1,5 RHT 

10MZ03 

10MZ04 

17MZ0200 

1 2

3

10MZ03

1

17MZ0200

3

ECOSPORT
                                                                                        
ECOSPORT                                                                                                   01/2012 -->

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

 1 751 952* 

1 545 338 

1 545 339 

1 790 310 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left 

Stabiliser Link 

c:Ø17,5   do:Ø38,6 

c:Ø12,85 th:FM14x1,5 RHT 

c:Ø12,85 th:FM14x1,5 RHT 

L:252mm  

10FR3520 

17FR3520 

17FR3521 

26FR3520 

26FR3520

17FR3521

10FR3520

17FR3520

4

3

10FR3520

1 1

2

4

26FR3520



FORD
ESCORT
                                                                                        
ESCORT V-VI-VII                                                                                 07/1990  02/1999-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

2

3

4

5

6

7

88

6 120 231 

6 120 232 

1 015 547 

1 015 546 

1 024 130 

6 197 238 

1 1 130 273 

Tie Rod End Right 

Tie Rod End Left 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Axial Joint 

Stabiliser LinkStabiliser Link 

c:Ø12,35 th:FM14x2 RHT 

c:Ø12,35 th:FM14x2 RHT 

c:Ø13,2 th:FM14x2 RHT 

c:Ø13,2 th:FM14x2 RHT 

th:MM14x1,5 RHT L:307mm 

th:MM14x1.5 RHT L:304mm 

L:238mm L:238mm  

17FR1600 

17FR1601 

17FR1800 

17FR1801 

20FR20 

20FR30 

26FR0526FR05 

12/1974  08/1980

-

26FR05 26FR05

8

4 5

20FR20

20FR30

17FR1800 17FR1801

17FR160017FR1601

6

7

4 5

3 2

17FR1800 17FR1801

M.S
MS EXC. RS2000

PS 1992 >
PS EXC. RS2000

20FR30

RS2000

20FR20



FORD
ESCORT
                                                                                        
ESCORT V-VI-VII                                                                                 07/1990  02/1999-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

9

10

1 047 853
1 000 445 

1 035 929 

Ball Joint
Silentblock for TCA 

Silentblock for TCA 

c:Ø17   
di:Ø12,2 do:Ø46,5 

di:Ø12,2 do:Ø54 

10FR11

38FR3000 

38FR3001 

12/1974  08/1980

38FR3000

10FR11

38FR3001

38FR3000

9

10

1

38FR3001

10FR11

1

FIESTA
                                                                                        
FIESTA I-II(FBD)                                                                                  09/1981 - 03/1989

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
1 447 221 

6 128 255 

Tie Rod End 

Axial Joint 
c:Ø11,5 th:F1/2" UNF RHT17FR20 

20FR35 

17FR20
20FR35 20FR35

1 1

17FR20

2



FORD
FIESTA
                                                                                        
FIESTA III (GFJ)                                                                                   01/1989 - 08/1996

26FR05 26FR05

4 4

17FR20
20FR3505 20FR3505

2 2

17FR20

3

M.S

RS / XR2i

38FR300010FR11

38FR300138FR3000

5

5

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

1 047 853 

6 081 391 

4 048 739 

1 130 273 

1 000 445 

1 035 929 

Ball Joint 

Tie Rod End 

Axial Joint 

Stabiliser Link 

Silenblock for TCA 

Silenblock for TCA 

c:Ø17    

c:Ø11,5 th:F1/2" UNF RHT 

th:MM14x1,5 RHT L:299mm 

L:238mm  

di:Ø12,2 do:Ø46,5 

di:Ø12,2 do:Ø54 

10FR11 

17FR20 

20FR3505 

26FR05 

38FR3000 

38FR3001 

6

6

1

38FR3001 10FR11

1

-



FORD
FIESTA
                                                                                        
FIESTA IV (JA_, JB_)                                                                                 09/1995  06/2002
FIESTA COURIER (J5_, J3_)
                                                                    

                       

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

1 679 398 

1 020 175 

1 020 174 

1 044 014 

1 130 273 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

c:Ø16,5    

c:Ø11,6 th:FM14x2 RHT 

c:Ø11,6 th:FM14x2 RHT 

th:MM14x1,5 RHT L:308mm 

L:238mm  

10FR1201 

17FR1900 

17FR1901 

20FR3510 

26FR05 

26FR05 26FR05

5 5

17FR1900

20FR3510

10FR1201

20FR3510

2 3

17FR1901

10FR1201

4

1



FORD
FIESTA
                                                                                        
FIESTA V (JH_, JD_)                                                                                 11/2001 - 09/2008
FIESTA V Van                                   10/2003 - 12/2010

                                                                    

                       

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

1 679 382 

1 202 548 

1 202 549 

4 472 940 

1 146 150 

1 212 807

1 1 141 459 

 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Stabiliser Link 

Silentblock for TCA

Engine MountingEngine Mounting 

 

c:Ø16,4    

c:Ø11,5 th:FM14x1,5 RHT 

c:Ø11,5 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:276mm 

L:284mm  

di:Ø12,2 do:Ø40,6 

10FR3515 

17FR3515 

17FR3516 

20FR3515 

26FR0510 

38FR3530

45FR352045FR3520 

 

26FR0510 26FR0510

45FR3520

5 5

7

17FR3516
20FR3515 20FR3515

38FR353038FR3530
10FR3515

3

1

10FR3515

1

2

17FR3515

4

6



FORD
FIESTA
                                                                                        
FIESTA VI (CB1 - CCN)                                                                                 10/2008 - 01/2017
FIESTA VI Van                                      01/2009 - 01/2017

                                                                    

                       

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

1 518 904 

1 545 338 

1 545 339 

1 545 457 

1 790 310 

1 518 904 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Stabiliser Link 

Silentblock for TCA 

c:Ø17,5   do:Ø38,6 

c:Ø12,85 th:FM14x1,5 RHT 

c:Ø12,85 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:290,5mm 

L:252mm  

do:Ø61 

10FR3520 

17FR3520 

17FR3521 

20FR3520 

26FR3520 

38FR3520 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 1 790 310Stabiliser Link L:252mm 26FR3520

                                                                                        
FIESTA VII (CE1)                                                                                          01/2017 >-

26FR3520

20FR3520
17FR3521

10FR3520 38FR3520 38FR3520

26FR3520

5

3 2

26FR3520 26FR3520

1

61

4

10FR3520

1

20FR3520
17FR3520



FORD
FOCUS

8

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

1 679 401 

1 107 013 

1 107 015 

1 085 520 

1 130 273 

1 487 402 

1 01 061 570 

1 061 668*

1 070 177 

 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Stabiliser Link 

Stabiliser Link Rear 

Silentblock Silentblock for TCA 

Silentblock for TCA

Engine Mounting 

 

c:Ø16,5    

c:Ø12,9 th:FM14x2 RHT 

c:Ø12,9 th:FM14x2 RHT 

th:MM14x1,5 RHT L:341mm 

L:238mm  

 

di:Ø12di:Ø12,1 do:Ø40,7 

di:Ø12,2 do:Ø32,2

For 6th Gearbox 

 

10FR1700 

17FR1700 

17FR1701 

20FR1700 

26FR05 

26FR1700 

38FR38FR1710 

38FR1720

45FR1010 

 

20FR170017FR1701

10FR1700 10FR1700

3 2

                                                                                        
FOCUS I (DAW, DBW)                                                                              10/1998 - 11/2004
FOCUS I (DFW)                                                                                         02/1999 - 12/2007
FOCUS I Turnier (DNW)                                                                            02/1999 - 12/2007
FOCUS I Clipper (DNW)                                                                            02/1999 - 11/2004                                                 

1 1

66

4

7

20FR1700

45FR1010

38FR1710

38FR1720 38FR1720

26FR170026FR1700

17FR1700

26FR05 26FR05

EXC. RSEXC. RS

5 5

9



FORD
FOCUS
                                                                                        
FOCUS II CMAX (CAP)                                                                       10/2003  03/2007-

26FR170526FR1705

77

17FR1706

4 3

17FR170520FR1705 20FR1705

5

10FR1705
38FR1730

38FR170538FR1706

12

910

1

10FR1705

1

03/2006 >-
BOTTOM CONE  Ø21

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

3

4

5

7

9

110

12

1 679 388 

1 388 549 

1 404 785  

1 780 104

1 851 900 

1 570 284* 

1 1 570 285*  

1 332 074*

 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left  

Axial Joint

Stabiliser Link  

Silentblock for TCA Right 

Silentblock Silentblock for TCA Left  

Silentblock Bushing

 

th:M14x1.5 RHT  cp:1/6 cs:Ø18     

c:Ø12,45 th:FM16x1,5 RHT 

c:Ø12,45 th:FM16x1,5 RHT  

th:MM14x1,5 RHT L:291mm

L:298mm  

di:Ø22  

di:Ø22 di:Ø22    

di:Ø14,2 do:Ø40,8

 

10FR1705

38FR1730

26FR1705

20FR1705

17FR1705

17FR1706

38FR1705 

38FR1706 



FORD
FOCUS
                                                                                        
FOCUS II CMAX (CAP)                                                                       10/2003  03/2007-

10FR1706
38FR1730

38FR170538FR1706

12

910

2

10FR1706

2

Exc. Focus II Convertible

11

38FR1720 38FR1720

> 02/2006-
BOTTOM CONE  Ø18

26FR1706 26FR1706

8 86

26FR1700

NO ASMETAL CODE MEASURES OEMDESCRIPTION

2

6

8

9

10

11

1212

1 679 384

1 061 702

1 469 208 

1 570 284* 

1 570 285* 

1 061 668* 

1 332 1 332 074* 

Ball Joint

Stabiliser Link Rear

Stabiliser Link Rear 

Silentblock for TCA Right 

Silentblock for TCA Left 

Silentblock Bushing 

Silentblock BushingSilentblock Bushing 

th:M14x1.5 RHT  cp:1/6 cs:Ø15 

L:72,5mm  

di:Ø22  

di:Ø22  

di:Ø12,2 do:Ø32,2 

di:Ø14,2 do:Ø40,8 

10FR1706

26FR1700

26FR1706

38FR1705 

38FR1706 

38FR1720 

38FR38FR1730 



FORD
FOCUS

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

3

4

6

8

9

111

1 679 388 

1 388 549 

1 404 785  

1 851 900 

1 570 284* 

1 570 285*  

1 332 1 332 074*

 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left  

Stabiliser Link  

Silentblock for TCA Right 

Silentblock for TCA Left  

Silentblock BushingSilentblock Bushing

 

th:M14x1.5 RHT  cp:1/6 cs:Ø18     

c:Ø12,45 th:FM16x1,5 RHT 

c:Ø12,45 th:FM16x1,5 RHT  

L:298mm  

di:Ø22  

di:Ø22    

di:Ødi:Ø14,2 do:Ø40,8

 

10FR1705

38FR1730

26FR1705

17FR1705

17FR1706

38FR1705 

38FR1706 

                                                                                        
FOCUS II (DA_, HCP, DP)
FOCUS II Convertible
FOCUS II Saloon (DB_, FCH, DH)
FOCUS II Turnier (DA_, FFS, DS)
                                                                            02/1999 - 11/2004                                                 

07/2004 - 09/2013
10/2006 - 09/2010
04/2005 - 09/2012
07/2004 - 09/2012

17FR1706

10FR1705
38FR1730

38FR170538FR1706

26FR170526FR1705

66

4 3

11

89

1

10FR1705

1

17FR1705

03/2006 >-
BOTTOM CONE  Ø21



FORD
FOCUS

NO ASMETAL CODE MEASURES OEMDESCRIPTION

2

5

7

8

9

10

111

1 679 384

1 061 702

1 469 208 

1 570 284* 

1 570 285* 

1 061 668* 

1 332 1 332 074* 

Ball Joint

Stabiliser Link Rear

Stabiliser Link Rear 

Silentblock for TCA Right 

Silentblock for TCA Left 

Silentblock Bushing 

Silentblock BushingSilentblock Bushing 

th:M14x1.5 RHT  cp:1/6 cs:Ø15 

L:72,5mm  

di:Ø22  

di:Ø22  

di:Ø12,2 do:Ø32,2 

di:Ø14,2 do:Ø40,8 

10FR1706

26FR1700

26FR1706 

38FR1705 

38FR1706 

38FR1720 

38FR38FR1730 

                                                                                        
FOCUS II (DA_, HCP, DP)
FOCUS II Convertible
FOCUS II Saloon (DB_, FCH, DH)
FOCUS II Turnier (DA_, FFS, DS)
                                                                            02/1999 - 11/2004                                                 

07/2004 - 09/2013
10/2006 - 09/2010
04/2005 - 09/2012
07/2004 - 09/2012

10FR1706
38FR1730

38FR170538FR1706

11

89

2

10FR1706

2

Exc. Focus II Convertible

10

38FR1720 38FR1720

> 02/2006-
BOTTOM CONE  Ø18

26FR1706 26FR1706

7 75

26FR1700



FORD
FOCUS
                                                                                        
FOCUS III (CB8, CEW)                                                                                  04/2011 >-

26FR1710

17FR1708

6 5

17FR170720FR1705 20FR1705

7

ELEC. P.S

ELEC. P.S
-> 09/2014

HYDRO. PS
10/2014 -->

17FR1708

10FR1708 10FR1707

6 5

12

17FR1707

9

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

1 702 970 

1 702 983 

1 388 549 

1 404 785 

1 826 501 

1 826 505 

1 780 1 780 104 

1 856 667 

1 851 900 

Ball Joint Right 

Ball Joint Left 

Tie Rod End Right 

Tie Rod End Left 

Tie Rod End Right 

Tie Rod End Left 

Axial JointAxial Joint 

Stabiliser Link Rear 

Stabiliser Link   

c:Ø21    

c:Ø21    

c:Ø12,45 th:FM16x1,5 RHT 

c:Ø12,45 th:FM16x1,5 RHT 

c:Ø 12,35 th:FM16x1,5 RHT 

c:Ø 12,35 th:FM16x1,5 RHT 

th:MMth:MM14x1,5 RHT L:291mm 

L:72,5mm  

L:298mm  

10FR1707 

10FR1708 

17FR1705 

17FR1706 

17FR1707 

17FR1708 

20FR20FR1705 

26FR1708 

26FR1710 

-

26FR1710

17FR1706

4 3

17FR1705

26FR1708 26FR1708

8



FORD
FUSION
                                                                                        
FUSION (JU_)                                                                                      08/2002 - 12/2012

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

1 679 382 

1 202 548 

1 202 549 

4 472 940 

1 146 150 

1 212 807

1 1 141 459 

 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Stabiliser Link 

Silentblock for TCA

Engine MountingEngine Mounting 

 

c:Ø16,4    

c:Ø11,5 th:FM14x1,5 RHT 

c:Ø11,5 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:276mm 

L:238mm  

di:Ø12,2 do:Ø40,6 

10FR3515 

17FR3515 

17FR3516 

20FR3515 

26FR0510 

38FR3530

45FR352045FR3520 

 

26FR0510 26FR0510

5 57

17FR3516
20FR3515 20FR3515

38FR353038FR3530
10FR3515

3

1

10FR3515

1

2

17FR3515

4

6

45FR3520



FORD
GALAXY 
                                                                                        
GALAXY (WGR)                                                                                    03/1995 - 05/2006

26VW050026VW0500

55

1

17VW0500

2 3

17VW0501

10VW0500

20VW0600 20VW0600

4

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

7 200 957 

1 234 259 

1 234 258 

1 121 508 

1 361 653 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

th:M14x1.5 RHT  cp:1/10 cs:Ø18,45  

c:Ø14,3 th:FM14x1,5 RHT 

c:Ø14,3 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:185,5mm 

L:205mm  

10VW0500 

17VW0500 

17VW0501 

20VW0600 

26VW0500 

1

10VW0500



FORD
GALAXY 
                                                                                        
GALAXY (WA6)                                                                                               05/2006 - 06/2015
GALAXY                                                   2015 -->

                                                                    

                       

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

1 469 024 

1 433 273 

1 433 274 

1 596 574 

1 377 849 

1 425 853 

1 469 0261 469 026 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Stabiliser Link 

Stabiliser Link Rear 

Silentblock Silentblock for TCA 

th:M14x1.5 RHT   cp:1/6 cs:Ø18  

c:Ø16,7 th:FM18x1,5 RHT 

c:Ø16,7 th:FM18x1,5 RHT 

th:MM16x1,5 RHT L:313mm 

L:300mm  

L:179mm  

di:Ødi:Ø14,2 do:Ø60,4 

10FR2205 

17FR2205 

17FR2206 

20FR2205 

26FR2205 

26FR2210 

38FR400038FR4000 

26FR2205 26FR2205

5 5

17FR2206
20FR2205 20FR2205

38FR400038FR4000
10FR2205

3

1

6 6

10FR2205

26FR2210 26FR2210

1

2

17FR2205

4

7



FORD
GRANADA

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

5 021 429 

1 579 763 

1 476 246 

Ball Joint Upper 

Ball Joint Lower 

Tie Rod End 

th:M14x1.5 RHT  cp:1/9 cs:Ø15,45  

th:M14x1.5 RHT  cp:1/8 cs:Ø15,5  

c:Ø12,5 th:FM14x2 RHT 

10FR42 

10FR43 

17FR21 

17FR21

17FR0100

                                                                                        
GRANADA (GGTL, GGFL)                                                                          01/1972 - 08/1977
GRANADA Break / Turnier (GNU) (GGNL)                                                   08/1977 - 08/1985
GRANADA Coupe (GGCL)                                                                         01/1972 - 02/1976
GRANADA (GU)                                                                                        08/1977 - 08/1985
                                                

3

1

2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

5 021 415 

5 021 464 

5 021 465 

Tie Rod End 

TCA Right 

TCA Left 

c:Ø12,5 th:FM14x2 RHT 

c:1:6 th:M12x1.5 RHT  

c:1:6 th:M12x1.5 RHT  

17FR0100 

23FR1000 

23FR1001 

                                                                                        
GRANADA I (GAE, GGE)                                                                               04/1985 - 09/1994
GRANADA Mk III (GAE, GGE)   04/1985 - 09/1994

                                                                    

                       1

3
2

17FR21

10FR42

10FR4310FR43

10FR42

3

17FR0100

23FR1000
23FR1001

GRANADA Mk III



FORD
GRAND C-MAX
                                                                                        
GRAND C-MAX (DXA/CB7, DXA/CEU)                                                                 12/2010 -->
GRAND C-MAX Van                                            12/2010 -->

                                                                    

                       

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

1 702 970 

1 702 983 

1 826 501 

1 826 505 

1 780 104 

1 851 900 

1 856 6671 856 667 

Ball Joint Right 

Ball Joint Left 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Stabiliser Link 

Stabiliser Link Stabiliser Link Rear 

c:Ø21    

c:Ø21    

c:Ø 12,35 th:FM16x1,5 RHT 

c:Ø 12,35 th:FM16x1,5 RHT 

th:MM14x1,5 RHT L:291mm 

L:298mm  

L:72,5mm L:72,5mm  

10FR1707 

10FR1708 

17FR1707 

17FR1708 

20FR1705 

26FR1705 

26FR26FR1708 

17FR1708

4 3

17FR1707
20FR1705 20FR1705

5

10FR1708 10FR1707

12

26FR1708 26FR1708

7

26FR1705 26FR1705

6 6



FORD
KA
                                                                                        
KA (RB_)                                                                                            09/1996 - 11/2008-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

1 679 398 

4 048 739 

1 130 273 

1 000 445 

1 035 929 

Ball Joint 

Axial Joint 

Stabiliser Link 

Silentblock for TCA 

Silentblock for TCA 

c:Ø16,5    

th:MM14x1,5 RHT L:299mm 

L:238mm  

di:Ø12,2 do:Ø46,5 

di:Ø12,2 do:Ø54 

10FR1201 

20FR3505 

26FR05 

38FR3000 

38FR3001 

12/1974  08/1980

-

26FR05 26FR05

3 3

EXC. 1.6 i
04/2003 -->

20FR3505 20FR3505

2

38FR300138FR3000
10FR1201

41 5 1

10FR1201



FORD
KA
                                                                                        
KA+ (CDU)                                                                                                   06/2016 >-

-

26FR3520 26FR3520

5 5

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

1 518 904 

1 545 338 

1 545 339 

1 545 457 

1 790 310 

1 518 904 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Stabiliser Link 

Silentblock for TCA 

c:Ø17,5   do:Ø38,6 

c:Ø12,85 th:FM14x1,5 RHT 

c:Ø12,85 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:290,5mm 

L:252mm  

do:Ø61 

10FR3520 

17FR3520 

17FR3521 

20FR3520 

26FR3520 

38FR3520 

20FR3520
17FR3521

10FR3520 38FR3520 38FR3520

3 2

61

4

10FR3520

1

20FR3520
17FR3520



FORD
KUGA
                                                                                        
KUGA I                                                                                                              03/2008  12/2012
KUGA II                                                 11/2012 >

                                                                    

                       

-
-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

1 826 501 

1 826 505 

1 780 104 

1 851 900 

1 332 074* 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Link Stabiliser 

Silentblock for TCA 

c:Ø 12,35 th:FM16x1,5 RHT 

c:Ø 12,35 th:FM16x1,5 RHT 

th:MM14x1,5 RHT L:291mm 

L:298mm  

di:Ø14,2 do:Ø40,8 

17FR1707 

17FR1708 

20FR1705 

26FR1705 

38FR1730 

17FR1708

2 1

17FR1707
20FR1705 20FR1705

38FR1730

3

5

38FR1730

26FR1705

Exc. KUGA I Exc. KUGA I

26FR1705

4 4



FORD
MAVERICK
                                                                                         
MAVERICK                                                                                                   02/2001 -->

26FR0510

26FR3520

26FR0510

22

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

G030-99-356 

1 146 150 

1 513 343 

Ball Joint 

Link Stabiliser 

Link Stabiliser 

c:Ø18   do:Ø43,1 

284mm 

L:252mm  

10MZ0500 

26FR0510 

26FR3520 

26FR3520

3

1

10MZ050010MZ0500

1



FORD
MONDEO
                                                                                        
MONDEO I (GBP)(BNP)                                                                                 01/1993 - 08/1996
MONDEO II (BAP)(BFP)(BNP)                                      09/1996 - 11/2000

                                                                    

                       

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

6 870 549 

5 027 451 

5 027 452 

1 097 323 

1 097 316 

7 294 415 

3 903 3 903 149 

5 106 995 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Axial JointAxial Joint 

Stabiliser Link   

c:Ø18    

c:Ø12,2 th:FM16x1,5 RHT 

c:Ø12,2 th:FM16x1,5 RHT 

c:Ø13,2 th:FM16x1,5 RHT 

c:Ø13,2 th:FM16x1,5 RHT 

th:MM14x1,5 RHT L:339mm 

th:MMth:MM14x1.5 RHT L:338mm 

L:236,5mm  

10FR0500 

17FR2200 

17FR2201 

17FR2210 

17FR2211 

20FR0501 

20FR050220FR0502 

26FR0100 

26FR0100 26FR0100

8 8

20FR0501 20FR050117FR2200

2 36

17FR2201

Exc. MONDEO II
15’’

17FR2200

2 3

17FR2201

20FR0502
17FR2210

10FR0500

4 5

1 1

7

17FR2211

MONDEO II

20FR0502

15"

10FR0500



FORD
MONDEO
                                                                                        
MONDEO I (GBP)(BNP)                                                                                 01/1993 - 08/1996
MONDEO II (BAP)(BFP)(BNP)                                      09/1996 - 11/2000

                                                                    

                       

NO ASMETAL CODE MEASURES OEMDESCRIPTION

9

10

11

1 054 209 

7 014 210 

6 829 051 

Stabiliser Link Rear 

Stabiliser Link Rear 

Silentblock Bushing 

L:58,3mm  

L:58,3mm  

di:Ø12,2 do:Ø60,3 

26FR02 

26FR03 

38FR2000 

26FR0226FR02

26FR03

10

11

38FR200038FR2000

9 9
26FR03

10/94 - 07/98

--> 10/94
Mondeo IMondeo I

--> 10/94

10/94 - 07/98

BNP



FORD
MONDEO
                                                                                        
MONDEO III (B5Y,B4Y,BWY)                                                                   10/2000  03/2007-

-

26FR222126FR2221

4 4

5

6

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

1 679 376 

1 138 313 

4 111 327 

1 219 697 

1 127 648

1 130 452

 

Ball Joint 

Tie Rod End 

Axial Joint 

Stabiliser Link   

Stabiliser Link Rear

Stabiliser Link Rear

 

c:Ø21    

c:Ø12,6 th:FM16x1,5 RHT 

th:MM14x1.5 RHT L:343,5mm 

L:250mm  

L:254mm 

L:85,5mm 

 

10FR0505 

17FR2220 

20FR2220 

26FR2221 

26FR2222

26FR2223

 

17FR2220

10FR0505

Exc. ST220

26FR2222

26FR2223

6

26FR2223

2 2

1

3

20FR222020FR2220
17FR2220

10FR0505

1

(B5Y), (B4Y)

(BWY)

5

Exc. ST220

26FR2222



FORD
MONDEO
                                                                                        
MONDEO IV (CA2)                                                                               03/2007 - 01/2015

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

1 507 182 

1 433 273 

1 433 274 

1 596 574 

1 377 849 

1 425 853 

1 469 0261 469 026 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Stabiliser Link 

Stabiliser Link Rear 

Silentblock Silentblock for TCA 

th:M14x1.5 RHT   cp:1/6 cs:Ø18  

c:Ø16,7 th:FM18x1,5 RHT 

c:Ø16,7 th:FM18x1,5 RHT 

th:MM16x1,5 RHT L:313mm 

L:300mm  

L:179mm  

di:Ødi:Ø14,2 do:Ø60,4 

10FR2205 

17FR2205 

17FR2206 

20FR2205 

26FR2205 

26FR2210 

38FR400038FR4000 

26FR2205 26FR2205

5 5

17FR2206
20FR2205 20FR2205

38FR400038FR4000
10FR2205

3

1

6 6

10FR2205

26FR2210 26FR2210

1

2

17FR2205

4

7



FORD
ORION
                                                                                        
ORION I (AFD)                                                                                              08/1983 - 12/1985
ORION II (AFF)                                      12/1985 - 07/1990

                                                                    

                       

17FR20 17FR20

11

23FR0501 23FR0500

3 2

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

6 081 391 

5 021 458 

5 021 459 

Tie Rod End 

TCA Right 

TCA Left 

c:Ø11,5 th:F1/2" UNF RHT 

c:Ø17,95   

c:Ø16,95   

17FR20 

23FR0500 

23FR0501 

-



FORD
ORION
                                                                                        
ORION III (GAL)                                                                                  09/1990  08/1993-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

1 047 853 

1 015 547 

1 015 546 

1 024 130 

6 197 238 

1 130 273 

1 000 1 000 445 

1 035 929 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Axial Joint 

Stabiliser Link 

Silentblock Silentblock for TCA 

Silentblock for TCA 

c:Ø17    

c:Ø13,2 th:FM14x2 RHT 

c:Ø13,2 th:FM14x2 RHT 

th:MM14x1,5 RHT L:307mm 

th:MM14x1.5 RHT L:304mm 

L:238mm  

di:Ø12,2 do:Ø46,5di:Ø12,2 do:Ø46,5 

di:Ø12,2 do:Ø54 

10FR11 

17FR1800 

17FR1801 

20FR20 

20FR30 

26FR05 

38FR300038FR3000 

38FR3001 

12/1974  08/1980

-

26FR05 26FR05

6

2 3

20FR20

20FR30

17FR1800 17FR1801

4

5

2 3

17FR1800 17FR1801

M.S

PS

20FR30

38FR300010FR11

38FR3001

38FR3000

7

8

1

38FR3001

10FR11

1

20FR20



FORD
P100
                                                                                        
P 100 I                                                                                                            04/1982 - 09/1987
P 100 II                                      10/1987 - 12/1992

                                                                    

                       
Exc. P 100 I

3

5 4

11

22

17FR0100

17FR1601 17FR1600

10FR40

10FR4110FR41

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

5 021 391 

6 108 482 

5 021 415 

5 021 413 

5 021 414 

Ball Joint Upper 

Ball Joint Lower 

Tie Rod End 

Tie Rod End Right 

Tie Rod End Left 

th:M14x1.5 RHT  cp:1/10 cs:Ø15,8  

th:M14x1.5 RHT  cp:1/8 cs:Ø15,5  

c:Ø12,5 th:FM14x2 RHT 

c:Ø12,35 th:FM14x2 RHT 

c:Ø12,35 th:FM14x2 RHT 

10FR40 

10FR41 

17FR0100 

17FR1600 

17FR1601 

10FR40

17FR0100

-



FORD
PUMA
                                                                                        
Puma (EC_)                                                                                        03/1997 - 06/2002

12/1974  08/1980

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

1 679 398 

1 020 175 

1 020 174 

1 044 014 

1 130 273 

Ball Joint 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

Stabiliser Link 

c:Ø16,5    

c:Ø11,6 th:FM14x2 RHT 

c:Ø11,6 th:FM14x2 RHT 

th:MM14x1,5 RHT L:308mm 

L:238mm  

10FR1201 

17FR1900 

17FR1901 

20FR3510 

26FR05 

26FR05
26FR05

5 5

17FR1900
20FR3510

10FR1201

20FR3510

2 3

17FR1901

10FR1201

4

1



FORD
RANGER

SCORPIO

                                                                                        
RANGER (ER, EQ)                                                                                04/1997 - 06/2006

                                                                                        
SCORPIO I (GAE, GGE)                                                                         04/1985 - 12/1994

-

Exc. 4x4

4x4

Exc. 4x4

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

5 021 415 

5 021 413 

5 021 414 

5 021 464 

5 021 465 

Tie Rod End 

Tie Rod End Right 

Tie Rod End Left 

TCA Right 

TCA Left 

c:Ø12,5 th:FM14x2 RHT 

c:Ø12,35 th:FM14x2 RHT 

c:Ø12,35 th:FM14x2 RHT 

c:1:6 th:M12x1.5 RHT  

c:1:6 th:M12x1.5 RHT  

17FR0100 

17FR1600 

17FR1601 

23FR1000 

23FR1001 

5 4

23FR100023FR1001

1

3 2

17FR0100 17FR0100

17FR1601 17FR1600

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 3 665 732Ball Joint Upper10MZ1505

10MZ150510MZ1505

1



FORD
SIERRA
                                                                                        
SIERRA                                                                                               08/1982  12/1995-

2 1

43

17FR1601 17FR1600

23FR0223FR01

Exc. 4x4

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5 021 413 

5 021 414

5 021 461 

5 021 460 

 

 

Tie Rod End Right 

Tie Rod End Left 

TCA Left 

TCA Right 

c:Ø12,35 th:FM14x2 RHT 

c:Ø12,35 th:FM14x2 RHT 

c:1:6 th:M12x1.25 RHT  

c:1:6 th:M12x1.25 RHT  

17FR1600 

17FR1601 

23FR01 

23FR02 



FORD
S-MAX
                                                                                        
S-MAX (WA6)                                                                                      05/2006 - 12/2014

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

1 507 182 

1 433 273 

1 433 274 

1 596 574 

1 377 849 

1 425 853 

1 469 0261 469 026 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Stabiliser Link 

Stabiliser Link Rear 

Silentblock Silentblock for TCA 

th:M14x1.5 RHT   cp:1/6 cs:Ø18  

c:Ø16,7 th:FM18x1,5 RHT 

c:Ø16,7 th:FM18x1,5 RHT 

th:MM16x1,5 RHT L:313mm 

L:300mm  

L:179mm  

di:Ødi:Ø14,2 do:Ø60,4 

10FR2205 

17FR2205 

17FR2206 

20FR2205 

26FR2205 

26FR2210 

38FR400038FR4000 

26FR2205 26FR2205

5 5

17FR2206
20FR2205 20FR2205

38FR400038FR4000
10FR2205

3

1

6 6

10FR2205

26FR2210 26FR2210

1

2

17FR2205

4

7



FORD
STREET KA
                                                                                        
STREET KA (RL2)                                                                                05/2003 - 07/2005

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

1 679 398 

1 130 273 

1 000 445 

1 035 929 

Ball Joint 

Stabiliser Link 

Silentblock for TCA 

Silentblock for TCA 

c:Ø16,5    

L:238mm  

di:Ø12,2 do:Ø46,5 

di:Ø12,2 do:Ø54 

10FR1201 

26FR05 

38FR3000 

38FR3001 

26FR05 26FR05

2 2

38FR3001

38FR3000 38FR3000

10FR1201

3

1 1

4

38FR3001

10FR1201



FORD
TAUNUS
                                                                                        
TAUNUS (12M / 15M / 17M / 20M / 26M / (GB__) )                                               01/1951 - 12/1982

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

1 541 324 

5 021 391 

3 384 610 

3 381 910 

5 021 411 

Ball Joint Lower 

Ball Joint Upper 

Tie Rod End 

Tie Rod End 

Tie Rod End 

th:M14x1.5 RHT  cp:1/8 cs:Ø15,5  

th:M14x1.5 RHT  cp:1/10 cs:Ø15,8  

c:Ø12,5 th:MM14x1,5 RHT 

c:Ø12,5 th:MM14x1,5 LHT 

c:Ø12,5 th:FM14x2 RHT 

10FR2000 

10FR40 

17FR1530 

17FR1550 

17FR21 

5

1

4 33

2

17FR21

17FR1530

10FR40 10FR2000 10FR2000

for ALL for ALL for ALL

17FR1550

exc. 20M /26M

17FR21

exc. 20M /26M

17FR153017FR1550

for TAUNUS 17M 01/1964 - 12/1974 & TAUNUS 20M 01/1964 - 12/1974 & TAUNUS 26M 01/1969 - 12/1974

2

10FR40

for ALL

12/1974  08/1980

-



FORD
TOURNEO
                                                                                        
TOURNEO CONNECT (TC7)                                                                          06/2002-12/2013

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

1 817 752 

4 381 840 

1 085 520 

4 436 609 

1 332 453 

1 332 455 

1 332 4541 332 454 

4 366 976 

1 070 177 

Ball Joint 

Tie Rod End 

Axil Joint 

Stabiliser Link Rear 

Stabiliser Link   

TCA Left 

TTCA Right 

Silentblock for TCA 

Engine Mounting 

th:M16x1.5 RHT  cp:1/6 cs:Ø18,15 do:Ø44,45 

c:Ø12,8 th:FM14x2 RHT 

th:MM14x1,5 RHT L:341mm 

L:133mm  

L:237mm  

 

  

di:Ø14,2 do:Ø40,7 

For 6th Gearbox 

10FR1300 

17FR1310 

20FR1700 

26FR1300 

26FR1310 

30FR1300 

30FR30FR1301 

38FR0110 

45FR1010 

26FR1310

45FR1010

MTX75

5 59

26FR1310

20FR1700

38FR0110

26FR1300

17FR1310

2 2

1

76

3

8

4

20FR1700
17FR1310

38FR0110

26FR1300

10FR1300

30FR1301
30FR1300

1

10FR1300

-



FORD
TOURNEO
                                                                                        
TOURNEO CONNECT (CHC)                                                                                 09/2013 -->

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

1 702 970 

1 702 983 

1 826 501 

1 826 505 

1 780 104 

1 851 900 

Ball Joint Right 

Ball Joint Left 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Stabiliser Link 

c:Ø21    

c:Ø21    

c:Ø 12,35 th:FM16x1,5 RHT 

c:Ø 12,35 th:FM16x1,5 RHT 

th:MM14x1,5 RHT L:291mm 

L:298mm  

10FR1707 

10FR1708 

17FR1707 

17FR1708 

20FR1705 

26FR1710 

20FR1705 20FR1705
17FR1708

10FR1708

4 3

2

5

10FR1707

1

17FR1707

6

26FR1710

-

26FR1710



FORD
TOURNEO
                                                                                        
TOURNEO COURIER (C4A)                                                                                   02/2014 >-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

1 518 904* 

1 545 338 

1 545 339  

1 545 457 

1 790 310 

1 851 900 

Ball Joint   

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Stabiliser Link 

Silentblock for TCA 

c:Ø17,5   do:Ø38,6 

c:Ø12,85 th:FM14x1,5 RHT 

c:Ø12,85 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:290,5mm 

L:252mm  

do:Ø61 

10FR3520 

17FR3520 

17FR3521 

20FR3520 

26FR3520 

38FR3520 

26FR3520

20FR3520
17FR3521

10FR3520

38FR3520

26FR3520

5

3 2

6

1

4

10FR3520

1

20FR3520
17FR3520



FORD
TOURNEO

TRANSIT

                                                                                        
TOURNEO CUSTOM (TTF)                                                                                    12/2012 >-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

1 817 752 

1 490 759 

1 763 991 

4 519 467

1 810 012 

 

Ball Joint   

Tie Rod End   

Axial Joint 

Stabiliser Link

Drive Shaft 

 

th:M16x1.5 RHT  cp:1/6 cs:Ø18,15 do:Ø44,45 

c:Ø16,7 th:FM16x1,5 RHT 

th:MM16x1,5 RHT L:381mm 

L:290mm  

10FR1300 

17FR1300 

20FR1006 

26FR1007

40FR1000 

 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

1 481 651 

1 796 515 

1 481 650 

1 796 516 

Tie Rod End Left 

Tie Rod End Right 

Tie Rod End Right 

Tie Rod End Left 

c:Ø15,3 th:MM20x1,5 RHT 

c:Ø15,3 th:MM18x1,5 RHT 

c:Ø15,3 th:MM20x1,5 LHT 

c:Ø15,3 th:MM18x1,5 LHT 

17FR1030 

17FR1031 

17FR1050 

17FR1052 

26FR1007 26FR1007

20FR1006
17FR1300

4

2 23

15

10FR130040FR1000

1

1

4

3

2

10FR1300

20FR1006

17FR1050

17FR103117FR1052

17FR1030

17FR1300

                                                                                        
TRANSIT '55 BOX - BUS                                                                               04/1955 - 04/1967
TRANSIT Mk I  II                                      10/1965 - 09/1985

                                                                    

                       

-



FORD
TRANSIT
                                                                                        
TRANSIT Mk III                                                                                           09/1985 - 09/1991

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

1 658 595 

6 172 643 

5 021 443 

5 021 444 

6 163 544 

5 021 446 

6 6 156 463 

6 150 970 

6 150 971 

Ball Joint 

Tie Rod End 

Tie Rod End Right 

Tie Rod End Left 

Tie Rod End Left 

Tie Rod End Right 

Axial JointAxial Joint 

Stabiliser Link Right 

Stabiliser Link Left 

th:M18x1.5 RHT  cp:1/10 cs:Ø20  

c:Ø16,1 th:FM16x1,5 RHT 

c:Ø15,3 th:MM18x1,5 RHT 

c:Ø15,3 th:MM18x1,5 LHT 

c:Ø18,2 th:MM20x1,5 LHT 

c:Ø18,2 th:MM20x1,5 RHT 

th:MMth:MM16x1,5 RHT L:399,5mm 

L:147,8mm  

L:147,8mm  

10FR0100 

17FR09 

17FR1031 

17FR1052 

17MR0100 

17MR0200 

20FR20FR1000 

26FR1000 

26FR1001 

26FR1001 26FR1000

9

1

8

-

17FR09

2 2

17FR0920FR1000 20FR1000

7

17FR1052

4 3

17FR103120FR1000 20FR1000

7

09/1985  08/1987

08/1987 - 09/1992

17MR0100

5 6

17MR0200
20FR1000

10FR0100

1

10FR0100

20FR1000

7



FORD
TRANSIT
                                                                                        
TRANSIT Mk IV                                                                                         09/1991  03/2000-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

5 025 676 

1 047 145 

6 156 463 

6 150 970 

6 150 971 

1 810 012 

6 675 7886 675 788 

Ball Joint Lower 

Tie Rod End 

Axial Joint 

Stabiliser Link Right 

Stabiliser Link Left 

Drive Shaft 

Strut MountStrut Mount 

th:M20x1.5 RHT  cp:1/10 cs:Ø21,8  

c:Ø18,1 th:FM16x1,5 RHT 

th:MM16x1,5 RHT L:399,5mm 

L:147,8mm  

L:147,8mm  

 

 

10FR1001 

17FR1011 

20FR1000 

26FR1000 

26FR1001 

40FR1000 

45FR45FR1020 

26FR1001

45FR1020

26FR1000

5 4

7

17FR1011

10FR1001

2 2

1

17FR101120FR1000 20FR1000

3

10FR1001

1

40FR1000

6



FORD
TRANSIT
                                                                                        
TRANSIT Mk V (FY)                                                                                     06/2000  12/2006
TRANSIT Mk VI (TT9)                                      04/2006  08/2006

                                                                    

                       

-
-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

3

4

5

6

8

99

11

12

1 817 752

1 743 642  

1 370 709 

1 370 710 

4 755 562

1 495 685 

1 495 1 495 717

4 041 955 

6C11-18183-AB 

 

 

 

Ball Joint

Tie Rod End 

Axial Joint Left 

Axial Joint Right 

Stabiliser Link

Stabiliser Link 

Silentblock Silentblock for TCA 

Strut Mount 

Strut Mount 

 

th:M16x1.5 RHT  cp:1/6 cs:Ø18,15 do:Ø44,45

c:Ø16,7 th:FM16x1,5 RHT 

th:MM16x1,5 RHT L:385mm 

th:MM20x1,5 RHT L:386mm 

  

L:290mm  

di:Ødi:Ø16,7 do:Ø65,7 

 

 

 

10FR1300

17FR1300 

20FR1005 

20FR1010 

26FR0105

26FR1007 

38FR38FR0100 

45FR1000 

45FR1300 

 

 

26FR1007 26FR1007

260/280/300 SERIES

NORMAL CHASSIS

TT9 REINFORCED, RWD

260/280/300 SERIES

330/350 SERIES 330/350 SERIES

26FR0105

45FR1300

 Mk VI Mk VI

8

6

12

26FR0105

6

-

17FR1300

3 3

17FR130020FR1005

38FR0100 38FR0100

1

10FR1300

1

10FR1300

20FR1010

4 5

9

45FR1000

11



FORD
TRANSIT
                                                                                        
TRANSIT Mk V (FY)                                                                                     06/2000  12/2006
TRANSIT Mk VI (TT9)                                      04/2006  08/2016

                                                                    

                       

-
-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

2

7

9

10

1 817 754

4 709 303 

1 495 717

1 810 012 

 

 

Ball Joint

Stabiliser Link Rear 

Silentblock for TCA

Drive Shaft 

th:M20x1.5 RHT  cp:1/6 cs:Ø21,7 do:Ø50 

L:347,5mm

di:Ø16,7 do:Ø65,7 

  

10FR1305

26FR1005 

38FR0100 

40FR1000 

 

26FR1005 26FR1005

40FR1000

7 7

10

-

TT9 REINFORCED, RWD
RWD

04.2006 -->
Exc. Box (FA_ _)

RWD
04.2006 -->
Exc. Box (FA_ _)

9

38FR0100 38FR0100

2

10FR1305

2

10FR1305



FORD
TRANSIT
                                                                                        
TRANSIT 2T (TTG)                                                                                             05/2014 >-

-

26FR1007 26FR1007

20FR1006
17FR1300

26FR1006

6

3 3

2

5

4

1

10FR1300

10FR1305

1

10FR1300

20FR1006

17FR1300

-

STANDARD SUSPENSION

REINFORCED SUSPENSION

2

10FR1305

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

1 817 752 

1 817 754 

1 743 642  

1 763 991 

1 810 747 

1 495 685 

Ball Joint 

Ball Joint 

Tie Rod End 

Axial Joint 

Stabiliser Link Rear 

Stabiliser Link 

th:M16x1.5 RHT  cp:1/6 cs:Ø18,15 do:Ø44,45 

th:M20x1.5 RHT  cp:1/6 cs:Ø21,7 do:Ø50 

c:Ø16,7 th:FM16x1,5 RHT 

th:MM16x1,5 RHT L:381mm 

L:347mm  

L:290mm  

10FR1300 

10FR1305 

17FR1300 

20FR1006 

26FR1006 

26FR1007 

26FR1006

5



FORD
TRANSIT
                                                                                        
TRANSIT CONNECT (TC7)                                                                          09/2002  09/2013 -

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

8

9

1 817 752 

4 381 840 

1 085 520 

4 436 609 

1 332 453 

1 332 455 

1 332 4541 332 454 

4 366 976 

1 070 177 

Ball Joint 

Tie Rod End 

Axial Joint 

Stabiliser Link Rear 

Stabiliser Link   

TCA Left 

TTCA Right 

Silentblock for TCA 

Engine Mounting 

th:M16x1.5 RHT  cp:1/6 cs:Ø18,15 do:Ø44,45 

c:Ø12,8 th:FM14x2 RHT 

th:MM14x1,5 RHT L:341mm 

L:133mm  

L:237mm  

 

  

di:Ø14,2 do:Ø40,7 

For 6th Gearbox 

10FR1300 

17FR1310 

20FR1700 

26FR1300 

26FR1310 

30FR1300 

30FR30FR1301 

38FR0110 

45FR1010 

26FR1310

45FR1010

MTX75

5 59

26FR1310

20FR1700

38FR0110

26FR1300

17FR1310

2 2

1

76

3

8

4

20FR1700
17FR1310

38FR0110

26FR1300

10FR1300

30FR130130FR1300

1

10FR1300



FORD
TRANSIT
                                                                                        
TRANSIT CONNECT (CHC)                                                                                    09/2013 >-

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

77

1 702 970 

1 702 983 

1 826 501  

1 826 505  

1 780 104 

1 851 900 

1 234 1 234 275 

Ball Joint Right 

Ball Joint Left 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Stabiliser Link 

Silentblock Silentblock for TCA 

c:Ø21    

c:Ø21    

c:Ø 12,35 th:FM16x1,5 RHT 

c:Ø 12,35 th:FM16x1,5 RHT 

th:MM14x1,5 RHT L:291mm 

L:298mm  

di:Ødi:Ø14,2 do:Ø40,8 

10FR1707 

10FR1708 

17FR1707 

17FR1708 

20FR1705 

26FR1705 

38FR38FR1730 

20FR1705 20FR1705
17FR1708

10FR1708

26FR170526FR1705

66

4 3

2

5

10FR1707

1

38FR1730

7

17FR1707



FORD
TRANSIT
                                                                                        
TRANSIT COURIER (C4A)                                                                                    02/2014 -->

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

6

 1 751 952* 

1 545 338 

1 545 339  

1 545 457 

1 790 310 

1 518 904* 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

Stabiliser Link 

Silentblock for TCA 

c:Ø17,5   do:Ø38,6 

c:Ø12,85 th:FM14x1,5 RHT 

c:Ø12,85 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:290,5mm 

L:252mm  

do:Ø61 

10FR3520 

17FR3520 

17FR3521 

20FR3520 

26FR3520 

38FR3520 

26FR3520

20FR3520
17FR3521

10FR3520 38FR3520

26FR3520

5

3 2

61

4

10FR3520

1

20FR3520
17FR3520



FORD
TRANSIT
                                                                                        
TRANSIT CUSTOM (TTF)                                                                                       12/2012 >-

-

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

1 817 752 

1 743 642  

1 763 991 

1 495 685 

Ball Joint 

Tie Rod End 

Axial Joint 

Stabiliser Link 

th:M16x1.5 RHT  cp:1/6 cs:Ø18,15 do:Ø44,45 

c:Ø16,7 th:FM16x1,5 RHT 

th:MM16x1,5 RHT L:381mm 

L:290mm  

10FR1300 

17FR1300 

20FR1006 

26FR1007 

26FR1007 26FR1007

20FR1006
17FR1300

4

2 23

1

10FR1300

1

10FR1300

20FR1006
17FR1300


